PRE/ POST Test

Biology

True or False

Q: T or F - The following are the 4 major categories of organic molecules; carbon, lipids, proteins, nucleic acids

Unit: 1

Benchmark: B2.2C

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q:  T or F - The function of the nucleus of a cell is to make energy for the cell

Unit: 2

Benchmark:B25i

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F  - There are some animal cells that can make their own energy from sunlight because they contain chloroplast

Unit: 3

Benchmark:B2. 5f

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q:  T or F - Gills and Lungs are both used to gather oxygenated air which the organism’s blood then delivers to the cells.  

Unit: 4

Benchmark: B2. 4C

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F – Homeostasis within an organism is only challenged by external factors

Unit: 6 

Benchmark: B2.3C

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F – Directly and indirectly the sun is the ultimate source of energy for all living things.

Unit: 7

Benchmark: B3.2B

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F – The raised CO2 levels in the atmosphere have nothing to do with human actions within their environment

Unit: 8

Benchmark: B3.4C

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q:  T or F - Crossing over of chromosomes in reproductive cells during meiosis does not provide genetic variation of genes from parent to offspring

Unit: 9

Benchmark: B4.3d

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F – A change in just one nucleotide base on a DNA molecule can lead to genetic mutations such as sickle anemia and others.

Unit: 10

Benchmark: B4.2D

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Q: T or F - It is always the bigger and stronger the species that is naturally selected for in terms of survival of the fittest

Unit: 12

Benchmark: B5.1A

Rational: This item assesses an important aspect of the unit’s instructional content.  This item is also asked in terms of definite context.  

Multiple Choice

Q: Which of the following is not a living organism even though it is demonstrating some of those traits found in all living things? 

a. Virus

b. Bacteria

c. Tree

d. Mushroom
Unit: 1

Benchmark: B2.4f
Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: Which of the following organelles allows plants to maintain their rigid structure?

a. Vacuole

b. Cell Membrane

c. Cell Wall

d. Ribosome

Unit:2

Benchmark: B2.5i

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: What structure in a plant cell is able to capture light energy which is used to break down water and CO2 to produce glucose? 

a. Mitochondria

b. Chloroplast

c. Cell Membrane

d. Guard Cell

Unit: 3

Benchmark: B2. 4e

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q:  What is the main function of the digestive system?

a. Circulate blood

b. Maintain homeostasis

c. Break down nutrients for use within the body

d. Remove waste products

Unit: 5

Benchmark: B2.3d

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q:  Light energy is converted into chemical energy during what cellular process?

a. Mitosis

b. Photosynthesis

c. Respiration

d. Translation

Unit: 7

Benchmark: B2.1B

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: Which of the following elements is continually cycled in the environment through the process of photosynthesis and respiration?

a. Hydrogen

b. Carbon

c. Calcium

d. Boron 

Unit: 7

Benchmark: B3. 3b

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: Which of the following is not a reason a somatic cell begins the process of cell division?

a. DNA cannot meet the demands of the cell

b. Increased Surface area to Volume

c. Slow exchange of nutrients and waste

d. The cell has aged beyond proper functioning level

Unit: 9

Benchmark: B2.1C

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: Which of the following is the process of copying a single mRNA stand from DNA within the nucleus?

a. Transcription

b. Translation

c. Replication

d. Translocation

Unit: 10

Benchmark: B4.2g

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: The genetic principle that states that alleles for different traits are inherited separate from one another is.

a. Law of Segregation

b. Independent Assortment

c. Dependent Assortment

d. Mendel’s Law

Unit: 11

Benchmark: B4.1d

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

Q: At which level does evolution occur?

a. Individual

b. Populations

c. Families

d. Communities

Unit: 12

Benchmark: B5.3A

Rational: This item assesses an important aspect of the unit’s instructional content.  This item also asks a specific question.  Finally, alternative answers are plausible.  

